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( B 2F B ) B
T, B T;
B B , T
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F 4
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@ m ,
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'Ha > )
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5s :mg <36 N=m(g+a,;) =3(10 +aqa,)
1 1
a, =2 m/s’ x1=7altf=7x2x52:25m
2 5s :mg =30 N
X, =a,t; Xt, =2 x5 x5 =50 m
5s :mg>24 N=m(g-a,) =3(10-a,)
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n=0.4, F=28N s
, 7 ( g 10m/s?)
3. (T3 ) s 80 kg
220 kg , 1-5-7 , _m_
1-5-7
, 2.0s 0 100 m/s,
7.0s, s , 4.0s s
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3.(1) , a1=”;—v”=1002_0 m/s? =50 m/s>
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fig
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a 2 2
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_1]’_1}0_0—(_6)2 _
A= T axs M= omd )
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______________________________________ e e
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v‘l 9 N

G

A i i (P54 )
=) aw



SHI  TI DIAD YAN
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2. (T2 ) 2-1-13 y
A P %
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C—D
2. , ( .
), 2-1-16 i
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[ 4mimigie] ,
[A#F2] ( ) 2-2-2 s AB
2 m, 2 kg, AO .BO
0 ,A01BO,/A=60°, ,AO
a 7
BT AB G, F, . Fy
FyF, 0 . ,
o |, 2-2-2 . ANAOB
,/A=60°,/B=30°, A():%. C R AC
A0, £ AOC =60°. ocC , La=30°.
(#7784 ] ( ) :
 omA= MARFZAN AMEBRELAGKS
HAE Ty = , F\ \F, Fy,F| [ F, . F;
F, F, F,
e T a, sinq, sina
[ #A#r3]) 2-2-3 ) )
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AT mg- Fy
, . Fy F' mg
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5(4) . ;
; 15

1895 1 1

, 1901 . >



MA=Z MEXFTZAY,LBRIMEEH
HAEF % 0]

F,
[A#r5] (06 ) 2-2-
4 ) ,
m , F. i“ Fa
’ 1
1
a y F 1
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(A 11) 2-2-13 , m
] S ey

M=3m,
2-2-13
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________ wA+ #ersagazy
AR Ty ik m , 0,
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( P C . 2-2-16
’P b A
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-16 , s
D omAt— EARFeEmELEEE §
P oAk i
[A#F13] )
— . 2-2-17 ,
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s 2-2-18
Fycos 6 —mg =0, Fy =pSv’sin®g
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S ’
0 9 b
v 0 9 ’
K =sin’*@cos 0
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2c0s’@ =sin’@, O=arctany2 =54.7° K K. :%37
_ Bme
2pS
s Vpin =3.9 m/s.
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, o F ,
2-2-19 , F OB
o s AO F?
2. (T3 ) 2-2-20 ,
m A, F S
0 0 s F .
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OA OB 0, G s
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Cc s 0A
OB ?
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9. (T10 ) 2-2-27 , \
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Fy F, F F’
L —=—= Fy
’ ’ R L R+h’ R+h ’ R ’ N
’ L ’ FT
5.A s
mg,
, 2-2-34
R Q. L, d,
AOcos 0+ BOcos 0 =d, Lcos §=d, cos 0=%
L.d s B 0
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S T VS
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M
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{mg=Fsina+,u,FN
F =mg/(sin a +pucos a)
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== F
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y o, , :F.=ma Fcos 6-F' =ma @
F,=0 Fsin §+Fy,-mg=0 @ F' =uF, 3
DB _ m(ug+a) ¥
" cos 0+,u,sm 0’ Fo A
cos 0 +pusin 6= «/1+,u2 - ( cos 0 + sin 6) £ f
/7 /7 <—|: .
1 .
tan g =—, sin¢= ,co08 ¢ =
I VA ! +IJ, VA ! HE
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R A B 7 ( sin 37° =
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i 4t , , 4
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7
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_ 2
=2 m/s 2-3-5
A B t
-
, , BS54
ax



O— (& |#®) (HEHH)

Http:/ www. tesoon. com

L= /273: /%szél s.
[ 457 54k ]

’

[Z3#r3 1] , ?
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01234567 8¢4s 2 57
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(
AB.C
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, ,44 s s 80 m/s.
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(3) 8s~44s
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2
v v
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2 m/s?), 5 =— =0.84 m. 4.16 m , B
2a
t, 1.04s, t=t, +t,=1.24 s
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%
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a
2 2
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:a, =g(sin § —pcos §) =2 m/s
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i, =1s

’ A B it=t, +t, =2 s.
R ] R A H K,
L m M : (m+M) 5
3-19,
¥ ¥ a
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(M+m)g .
2-3-19 2-3-20 2-3-21
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f=ma, @)
m M ,
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b
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m
s v =2 m/s,
2s X, y x.y
2-3-222-3-23 6s , 3 2s
0
t/s
2-3-22 2-3-23
sX:%x(6+2)><2:8m
=g xAx2=dm 5= /ey = A8 =45m
s 2s x.y
s s F o x
225°
, mg F Fy )
s Iy , a JFy s
(1) s 2-2-24
Fcos 6 — Fysin  =ma )
Fsin 6+ Fy cos § —mg =0 @)
O F=m(acos 0 + gsin 6) ©)
F, =m(gcos  —asin 6) @
@ , a=gcotfh ,F,=0
s a, = geot =17.0 m/s’
2) ® F=m(acos 0 +gsin §) =78.9 N
@ Fy=m(gcos @ —asin §) =69.9 N.

225°,

2-3-24

O— () (H=®mE)

& 4_&

3

[

g_

f)
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7.D s s s
“ ” s , A.
g =g+a, F’ ( )G'.
s F #p V g, F =p V (g+a).
JF o=p V (g-a).
X
=
1
b
" 4
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) 32=2t2 ’ ’
?
FEHT , 40 m/s,
Uy, Vs t/ vy =0,
S1-85 5 As s, =210 4 m/s’.
v,=v, 40=at’, 1'=10s, As =5, —s, =200 m.
As=s, —s, =400 =2, 1=10s As =200 m.
[#07 53%] ,
PomEs gAEam §
L g : §
[A#r2] , ) )
60°
(1) F 300 N, 0.2 s, 400 N,
(2) 0.1s,
. (g=10 m/s*, )
far (1) a,
2F +4Fcos 60° —mg =ma,
a, _4F -mg _4x300 -400 /82 220 m/s>
m 40
hy =, =2 %20 0.2 m=0.4 m
1= 2 11 — 2 . -
vy =a;t; =20 x0.2 m/s =4 m/s
2 i
_vno__16 _ i
=5y =axiom=0-8m &
H=h +h=1.2 m. g
(2)
v, = 2gH=/2x10x1.2 m/s =2 /6 m/s
Mo 206 .
@=3r=0] m/s” =20 /6 m/s __
4
: : : 85 G&
£ 30)]



Http:/ www. tesoon. com

s F—-mg=ma

F=m(g+a) =40 x (10 +20/6) N =2 360 N.

N

IR X
& it

3

[ #5753k ) . 5
""""" MA= gEERE
MAETr = , N
(##3] (06 )
3-1-1( ) , ( 75 kg) 0=37°
, . v—t
3-1-1( ) AB .B (4,15),CD
(1) , 7
(2) Swm/s ?
(3) k w (g 10 m/s* sin 37°=0.6)
AT (1) , ,
(2) 5m/s
AB
a:lS_S m/s? =2.5 m/s°. 1
4-0 a y 1
1
(3) S5w/s ¢ 246 810 ¢
Q : (R (Z3
B mgsin 37° —umgcos 37° — kv =ma 3-1-1
1 o' =10 m/s
ﬂ mgsin 37° = umgcos 37° + kv’
- k=37.5,u=0.125.
= (#0575 53] , 5
" [R5 4] 3-1-2 : :
, o 75 kg
60°, - (
" 0,8 10 m/s%)
LY



FEAT ,
1-3
F =0, F sin60°-F sin30°=0
F, =0, F sin30°+F sin60°=G
F =375N,F =3753N. 3_1-2 3_1-3
[ #7783k ] ,
 mRw AExEm
AT ik )
(#A#F5] (06 )
b t (
), 1.8
?
fi#HT g, t a=0.8g'
h = %atz =0.4g"1" v, =0. 85"t
v, s t
Ch=ugt - g, =2
=7 2 8 ’ =
t =t"+1=3t
[ 77 53k] )
, #
#F
h=vyt ——gt FF
B S i
D gk , .o
[A#r6] S 3-1-4
> i ) '
, BS54
Zf)
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A. ,
B. i
C. , ,
3-1-4
D.
T ;
-1-5 , ,
. A.
[#77.53%] ,
CoMmEx AfERM §
L Ak . , ,
(A& 7] ) “
3-1-6 , A
B C s ,
ABC F A, D
F’ F, “ 7
A B o,
, ( F F ).
= AT A , )
o 3-1-7 , AD Fy
g . F
v FisRegn O Vinmh
— -G
= D s 3 F/
= -1-8,
i F'=F,sin a + Fjcos B @ 3-1-7 3-1-8
ki F,cos a =Fysin B ©)
@ @ F'=F+Fycos B @
@ ® Feot o = Fysin B ®
LY
ﬁg : : ; : :

& it

[
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F'=F'
@3 F, F?,—l+cota'cot,8.
[ #5753k
 mAk #REZEEEE
HAE T % , ,
[A#F8] , F
t , 3-1-9
g 10/, ,
fiE T ,
mg =500 N, m=50kg TN TN
F,=2500 N o o
F, -mg=ma, of 3648 66 8794 115 s
a, =40 n/s. 3-1-9
[ #7553 ,
ﬁ i A |
1. (TI ) 3-1-10 ,
90 km/h( *“ o
") s,
s 2
s m. 3-1-10
2. (T2 ) , 5.0 kg A B
, A B
M (g 10m/s) o
(1) A F,=25N A il
»o A w3 ; i
(2) A 9=37° ( 3-1-11),
A F, =60 N,
2 m( 2 m) ? (sin 37°=0.6, 1-11
cos 37°=0.8)
-
, BS G
&)
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3.(T3 ) (06 )y 3-1-12 A, 2 4
B 4 x100 m , /'%, %” %
.B 25 m S / /
’ ) — —7l<—x2—>ll
B B 3-1-12
B 80%
(B N
(2)B A %,
4.(T3 ) ? :
? 10.57 s,
v—t , v—t
7
5.(T4 ) , ,
k. , m
, - (
6.(T5 )  m=30kg , F=180 N
: F' =150 N.
5s F. s
7.(15 ) 25 ,
? ,
) v
3-1-13 b
. VN
% , , o —
i , 3-1-13
G , 0~3.0s ,
o : ,
B 0w
% /s /ke
J 5.0
0~3.0
@
ANEB S
' )
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3.0~13.0 5.0
13.0~19.0 4.6
19.0 5.0
(1) 0~3.0s ?
(2)
8. (T6 ) s
0 100 km/h
, 100 km/h 30 m/s).
85 m. , ty, 0
8 s s
A ? 5 ?
/(s
(s) /(m-s™")
(0~30 m/s
12 40
6 50
9. (T6 ) ( )
S 4 m, 0.8 ecm?*,
1/1 000, ? , > ,
250 N 500 N 750 N 1 000 N
i
I'm 0.05 cm? 0.04 cm | 0.08 ¢cm | 0.12 cm | 0.16 cm 5
o
2 m 0.05 em? 0.08cm | 0.16 cm | 0.24 cm | 0.32 cm 5
1m 0.10 em? 0.02cm | 0.04cm | 0.06 cm | 0.08 cm
(1) ,
(2) N.

g N
&
jf 5@ [



v =2a x25 @)
(0. 8v)* =2ax, @
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10. (T7 ) (06 ) s DIS F/N
, 10 \
’ ’ 0 : 1 1 :
10 N h b Bl s
’ ’ 3-1-14
3-1-14 s
A.
B by i, ) by 1y,
C. 15 s s s
1
D. r o, , , ,
15
[ 5% 4 %]
RAGE K AE K
1. (1)
(2) ’ b
, Ny
b ls’
4 ==
9.0 x10
:1}[:73m=25m
3.6 x10 mg
s As =25 =50 m. 3-1-17
2.(1) A 3-1-17,A s
Fy = f N, =mg Si =ulV,
wn=0.5.
) (2) 3-1-18,4 s
iR (Fy —mg)cos 8- f, =ma
B (p,—mg)sin6- N, =0
i =uN.
o So =ulN,
= (F, —mg)cos § —u(F, —mg)sin § =ma 3-1-18
oy a=1n/s
)
- 1 e _ /2 _
i8 s= 2at , L= " =2 s.
I 3.(1) AB v,B a
L

& 4_&

Zpe
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O] x, =16 m.
(2) B A X s L,
X, =O' 8;+0z ® X, +x, =0l @
®®@ X, =24 m.
4. s s
3-1-19(C )
3-1-19
3-1-19( )
5. s F=k
F=mg , s F=k=mg
v’ =2as
m, (mg)’
(f)z—Zas, a—E;CZL
F' =ma
3 2
proms
2sk”
6. F =F-F =ma, a=1m/s
5s v=at=5m/s
F'=ma', o =5n/s
L i’-JE
v=7=ls #F
x =2 —ix6m—15m f:
20 T2 - ’ A
7. (1) s 5.0 kg, G=mg=50N
s t,(0~3.0s) ,
, (13.0s~19.0s) , ,19.0 s
13.0s~19.0s Fy, =46 N, mg - F\; =ma,
-
= &
[ - ]
%
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-Fy
ty a3=m=0.8 m/s’
m
13.0 s vy, =asty; =4. 8 m/s
3s 13.0 s s
Uy 2
0~3.0s a1=T=1.6m/s
1
Fy - mg =ma,
F, =58 N, 5.8 kg.
(2)0~3.0s x1=%a1t1=7.2m
3.0s~13.0s X, =0yt =48 m
V2
13.0s~19.0 s X =7%1;=14.4m
. 24 X=x, +%, +2;, =69.6 m
x
h-24 =2.9 m.
a, Vim s Xy,
a, Vom » X s
_Av
Tt
a, =% m/s’ =2.5 m/s* ,a, =% m/s’ =5 m/s’
A A
L =i=16 S,t, =ﬁ=10 s
a; a

x, =320 m,x, =250 m

8s, x', =La2t’§ =160 m

2

. x =x +85m

160 m +85 m =245 m <320 m

%a](z0+8)2=160m+85 m, tp=6s

(1)

" :%al(tﬂ +8)% =245 m.

tl?

O— () (H=®mE)

& 4\

3

[

4

& it



ME 2 AERR

SHI Tl DIAOD
(2) Al . S F
AlocFI/S, Al =kFI/S, k ,
:k=8x10"" m/N.
I=4m Al=4%x10"m .$=0.8x10"* m*> | F=AIS/kl =10"N.
10. ABC

2
<,ﬁ& ERL
, 10
5 9 9
1 956 s s
814 1984 . 2001
, 1142 ,
4 000 960 s 5072
550 s
’ ) 7 7 N T27
28 ,
\3@; 4 % E % |
[ 1 ] ™7 9 s 8 58
T28 8 s 8

YAN

ﬁ O— HHES

g X
g U
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.T27
— 21:30
23:55 23:58
09: 06 09:21
15:56 16:11
19: 04 19: 12
06: 21 06: 41
16:51 16:57
20: 58 —
E k] ?
AT Ax =2 922 =2 092 =830 km
11 9 , 40140 s
v="-=20.7 m/s
[R5 %%]) ,
( 2] 3-2-1( ) T27
-2-1( ) 27 —
50 kg, w=0.15, ,
? s 7 (
)
ﬁ?#ﬁ— () a= v/m/s
Av 20 o 2
A =10 M =2 s 20
F=ma=100 N
0
Fy= 10
umg =0.15 x50 x10 =75 N (HD
Fy
F=F, +F,=100 N
F, =25 N.
,_AU/_& 2 _ 2
(2) a—At,—zom/s—lm/s

277
1 200
1 876
2092
2922
3742
4 064

3-2-1

O— () (H=®mE)

& 4_&

X

[

4

& it
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, 50 N
500 N

F" = /500% +50* N=50 /101 N.

il

[ 5 %5]

ﬁiﬁ.ﬁﬂﬂ’ﬂl |

1. 127 ,
, | |
T T |
AT=551=0 L @
3-2-2
3-2-2( ) ,t=1500 s

3-2-2( ) ,

Ar=10"s, c=3.0x10%s, T27
?
2. 7000 . 1
2, 1338
127 500 m, 20 m/s,
, ?
3. 2006 , R ,
, 0.7,
0.1, (ABS) ,
, , 1.4m ,
, ?
4. (06 ) ,
, 30 km. , 432 km/h,
50 s,
. tr=]
T &)

ﬁ O— HHES
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(1) ’ b
(2) 120 km, ,
) 7
[ 5% %%]
BRAL ) K AE KR
1. t=0
X, =%0Atl, At, =3 x107* s
t=1500 s x2=%cAt2, A, =1 x107*s
%, =4.5x10" m,x, =1.5x10* m
1500 s Av=3.0x10" m
v:%:ZO m/s.
2' ’ ’ ’
, , x =7 000 +22 x
500 m =18 000 m
127 =X B0 g o107
v 20
3. ,
m =0.7
Y Q= =mg=0.7g
% v =2as, @
i m, =0.1
ot _Mng _
wF @& =" =u,8 =0. 1g
% v’ =2ays, @
— 0e) a8) =y,
L=} s, =9.8 m.
4. (1) N t', "
_vm ’ ” Ul,
st v+
LY



Wl 2 ABHl A
TSHI T DiA0 YAN
3x104=%t’+%x50, 1 =200 s
s s 3 x 10*

r 20+ 450
(2) t, (t-400)

V=

m/s =66. 7 m/s.

Doy 400) +-ny'
x—2t+vm(t— )+2t

1.2 x10° =% X200 +‘3i§(z—400)

t=1.2%x10% s =20 min.

g X
g U
ﬁ O— HHES
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<% Rt R

®

vl

[A#r1] m=2 kg
N F, =6 N
N F2=2N ’
w=0.1, g=10m/s’,
(1) ?
(2) , 40.25 m?
fEHT : )
Fi(CF) F,

(1)

F,-F, F, - _
a = 1 r_ ,umg=6 0.1x2x10 m/52=2m/sz

m m 2

F,-F, F,- _

a, = 2 f= 2 /-ngzz 0.1x2x10 m/52 -0 m/52
m m 2

, a=a, =2 m/s
(2) 1s

1 1
s]=7a1t2=7><2><12m=1m

ls vy=a;t=2x1 m/s=2 m/s

2s 1s ,

=t=2Xx1 m=2m

2s v, =v, =2 m/s
3s 2 m/s

>

2\4\6\...

1.3.5,

S

S3 =

% O— () (H=®mE)

[

4

& it



ntt gt =2x 1 mt - x2x Em=3m

3s vy =0, +at =2 m/s+2x1 m/s =4 m/s
4s 3s s 45 4
=v;0=4Xx1 m=4m
4 s v, =v3 =4 m/s -+
s 1s 1
, ns sn=1+2+3+~~-+n:n(nzi+l)
5,=40.25 m ,n 8<n<9. n=8, 8s Sg =
Mm=36m
2
8s vy =8 m/s
8s ey
5,=40.25 m-36 m=4.25 m, s =ugt, +7a1tx2
4.25=8tx+%><2tx2, 1,=0.5s
N 40.25 m T=8s+0.5s=8.5s.
— 4-1-1 , vl
s, 2s, 3s, 4s,-. ns I1m2m3m4m,
. om. ns
s, = (1 +2 43+ +n) mzn(nfﬂ)m 0 _v/_nl'_s_‘] ______________
s, =40.25m ,8<n<9, 8s ] piuuiaeeeiity” |
---------- 7
DR i
8s 1S, =S =5 2y e R R
=40.25 m =36 m=4.25 m 01 2354567809 s /2
4-1-1 el
s, =vgl, +;fa1tx2 &
&
t,=0.5s, 40.25 m 8.5 s. it
( 1] 4 kg ,
wu=0.1. =0 s
F ., F 4-1-2 83 g
Qo
: oo BS G
L 3
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10 m/s”.
FEAT ,
F, —pumg =ma,
a=(F —umg)/m=(12 -0.1 x4 x10)/4
=2 m/s’

,  F,+umg= ma,
a,=( Fy, +umg)/m=(4+0.1x4x10)/4 =2 n/s’

, = =0.5x2x2 =4 m

2
8m, ls 3m
83 x=20x8 +4 +3 =167 m.

[ 2] ,

60 kg, 300 N,
0.4 s, 0.2 s,

, 6s ?

fEHT a:%:%m/g:S m/s’
0.4s, s|=iaﬁ=ix5xo.42m=o.4m

2 2
0.2 s, s;"=at +t'=5%x0.4%x0.2 m=0.4 m
0.45, s2=at-t+%a-z2=5x0.42m+%x5x0.42m=
1.2 m=3s,

0.2s, s, =a+2t+1'=0.8 m=2s,’
0.4 s, s3=a-2t-z+%a-t2=5sI
0.2s, sy =a 3t -1t =3s,’

6s 10 0.6s, s=8, +3s; +--+19s; +1s;" +2s," +--- +10s," =62 m.

[A#r2] 4-1-3 , 0=37°

) m=1 kg )
n=0.2, F=9.6N
s , 2s

’ 4-1-3
22 m/s. (sin 37°=0.6,2 =10 m/s”)

O—(w|®) (H=/BHE)

)
IR X

& it
|

W



FEAT

2s F=9.6NN
; 4-1-4 4-1-4
;F—mgsinB—Ff=ma1 )
:Fy =mgcos 6 @
Fo=pFy ®
06 :(Ll:F—mgsmfn—p,mgcos 0=2m/52
2s v, =a,t, =4 m/s
F ’
)
@ =" (mgsin 0 +umgcos ) - 276 m/s
m
by
vy, =V, +ayt,, v, =0
0-v,
h=— =0.53 s
2
’ as,
ly
ay = gsin 0 —pgeos § =4. 4 m/s”, vy =22 m/s,
-0
t3=v3a =5s
3
22 m/s
t=t, +t; =0.53 s +5s=5.53 s.
[ ] :“ 21’]’]_/5” E
? 1
g,
S AT 4 m/s 2 m/s ‘;*,—_‘,'
v, —v, 2-4 :
- - 0.2 i
t, o —76° 0.26 s
s 2 m/s
v;'-0 2
"= =—5=0.45
g as 4.4° ® _
<9
, Bo <&
— s
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t'=t, +4,"=0.53 s +0.45 s=0.98 s

2 m/s s 0.26 s
0.98 s.
[ 1) 4-1-5 | 10 ke F
=200 N s
, , 9=37°. F
2 , 1.25 el 9
o u 4-1-5
s. ( sin 37°=0.6,cos 37° =0.8,2 =10 m/s”)
fig A 4-1-6 ,
a,, v, a,, mg
F

’

N = Fsin 0 + mgcos 6

Fcos 6 —f—mgsin 6 =ma,
S=uN
v=at
F o, a, =gsin 6 +ugcos 0
V= dayt,
s=ayt, /2 +ayt,° /2

w=0.25,5=16.25 m.

[ 2] 4-1-7 , m a
; F , F ,
0 ? ?
=~ fEHT ,
% mgsin a =umgcos o
$1E| Mm =tan o
W F F
aF
— 0 ’
8 F , ( x
;;_ ’ Y ):
— Fcos 6 —mgsin a —f=0 @
J Fsin +N - mgcos a=0 @)
N . feuN. DO
LY

N , .
) —
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Fe sin a +ucos @
cos 6 +usin 6
(sin a +pucos a) mg , F
cos @ +pusin 0 = m[ ! cos 6+ —* in 6]
1+’ 1+’
= V/T+psin(e +0)
sin(p+0) =1, ¢@+6=90° JF
— 1 _ono° _ sin @ +ucos @
@ = arctan P 0=90°-¢p =arctanp  ,F 1+,u2 mg =
2sin «
Vor
[A#F 3] 4-1-8 ,ad \bd .cd
,ab.c.d ,a
.d . ( ),
a.b.c ( 0), .t
d ,
At <t, <ty B.t, >t, >,
C.ty >t >1t, D.t, =t, =15
fg AT 0, 4-1-
9 ( )
:F =mgsin 6
ca=gsing D
R, 4-1-9
:L =2Rsin 0 @
Lz%al:2 ®
IR
;t=2N/E g’f
g 2
, R ®
) D i
¢ 1] v, a.b.c ,
d ?
"
BS54
- %



AT v, , :L=v,t +%at2
DO :2Rsin 6 = vyt + %gsin 6
—vy + +/v; +4gRsin’ 0 —v, — +/v; +4gRsin’ 9
it = - ¢ = - ( )
gsin 6 gsin 0
, 0 , t . Ly >ty >t
( 2] , , e
d 9
FEHT ; s N
R ( 4 -1
-10 ), ca =gsin 0 - '/I
pgceos 6 \
\
@3 :2Rsin 4 = ;*g( sin @ — pcos 0) 1
1= «/ : Rsin 6 -2 «/ R
g(sin 0 —pcos ) g(1 —pcot )
> 0 t
1, <t, <ts.
(3] 4-1-11 d (d
), dd’",ad . bd cd
,ab.e
~ , . a.b.c (
% O) ’ tl \t2 \t3 d ’ d
i ?
< ¥ dp ok h
e fi# AT p ) 0, L= sin 0
~
-%!E :a=gsinf L =%at2
- )
bl “sin gV g
J. , 0 t . 1, <t, <ts.
\ Y
& 4&

8
g X
=
|



0 D , 0 D ;
b= Ly v
= zgt 1
I
t=2s : y
I
0 B 25 !
¢ 6] 4-1-14 ,AB 6 . P4
AB ’ P 4-1-14
9 a 7
foRAT
P AB PC, .PC, PC, .-, P
« n’ 4_1_15(3) s “ ”1\2\3 d]
<d, <d,, t, <ty <ty ( 1 e )
g 7
, « » ﬁﬂr
« » AB ’ 74
"
15(b .
(b) if
4-1-15(b)
£D0C=0.a= £ DPC=F- 4
(b)
4-1-15 .
-

|
g =
g i
; @
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P a=% PC
[A#F4) 4-1-16 ,
0=37°, 10 m/s s
0.5 kg ,
0.5, A B 16 m, A
B ?
fiB AT . tan 0 e =0.5tan § = 4-1-16
0.75, s
4-1-17
10 m/s S
-_— i e
a, _ mgsin 0 +umgcos 6 —10 m/s,
m
t =2 =1s
a,
1 8 :7altl2 =5m
_mgsin § —pmgcos 6 _
az_m sin @ mcos&_2 s
m
2 m/s 11m L
1 2 1 2
32=vt2+7azt2 , 11 =10t2+7x2t2
t,=1s(t,”=-11s )
t=t, +1, =2 s.
10 m/s R
) ) az; =

mgsin § —umgcos 6 _ 2 m/s?
m

O— (& |#®) (HEHH)

)
IR X

& it
|

W
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1., 28 2x16
s=ast’y 0= a}—FTS—4s.
[ 1] ( )s
M ’
a ’ Vo ’ )
ﬁ%#ﬁ_ “ ”» , ,
a ay- , a=ug
l’ 7]0’ v,
vy =agt v=at
a<a,, v<v, t',
v vy, Vy=v+at
0 v s
2
Sy S, soz%a0t2+voz' s:ZL
a
L=s,-s
lzvoz(ao —H8g)/2uayg.
[ 2] 4-1-18 ,
L=8 m, wn=0.2, s
=0.45 m, h=1.8 m
(1) , ;
4 m/s ; 4 m/s ;
(2) ’ ’
7 (g=10 m/s)
fdr (1) v, mgh = |2
el
Lm1)2, v=6 m/s E,j
2 2/
7S
’2 i#
a=-ug=-2m/s
v,
v’ =2 m/s,
"4

g X
g U



4 m/s

t, =t; =2 s;
4 m/s ,
tO’ S5
, vy =V
ly » Yool = , Lh=1s,
a
, L-s vy -0
tO_ ,30=
N 2a
' =0.75 s, to+1,' =1.75 s.
(2) 9’ b
v’ "
vy <2 m/s, s' s' =0t
v |, §'=0.6 m.
g
& AAHE |
1.
, F, F,. F,, 2.5 m/s’;
”1.;; F,, 1.5 m/s’ F,,
i1}
g A 1.5 m/s” B.2.0 m/s’ 12
9
st C.2.5 n/s’ D.4.0 m/s’ 6
—_ 2. 0.8 kg , 4-1 3
9 0 s
iB v—1 b
i N.
3 A 10N, B 4-1-20
A , 15N , A.B 0.3,
L
F = ,
- mEf) —



SHI Tl DIAD  YAN
5N A A m/s”. (g=10" N 7
m/s?)
4 4-1-21 0 4
. , s
k ' m ’ 4-1-20
A , , A
a(a<gsin 6) )
(1) ;
A
(2) ,
0
4-1-21
(A% % %]
1. B F\\F, F, )
4-1-22 ,
F, F, F; F,, F, =ma, ®
F, [F \F; F,, F,=ma, @
Fy F\F, Fy,  Fy=ma, ®
Fyo=JF-F, @
DOB®@ a,=./d —ai=+2.5-1.5 m/s" =2.0 m/s".
2. s b s v—t ; a
s v—t a a =1.5m/s, F,=
ma =1.2 N; b a =0.75w/s", F-F =ma |, F=ma +F,
=1.8 N.
3. , 4-1-23 , A.B Fy=
15 N
F —uFy=ma
F o —uFy - F,
a= M“\zs 0'3”(15m/52:0.5m/s2 " =3
m 1 ﬁ”
[ 1 B .
4(1) ’ ’ 739
) 7
mgsin 0 — kx =ma i
m(gsin § —a) Fy
x=—"t——"=
k mg
4-1-23
Qo
BS54
— 8 fy)



Http:/ www. tesoon. com

1
x=—al®

2
L= /27x= [2m(gsin § —a)
a ka ’
(2) 9

s kx' =mgsin 0

% O— () (H=®mE)

[

4

& it



. % AT
& m il

=

® ’ ’
@
®
@ b
—EEM
1.

TSHI

BEAT im{l___m

TDIAD T YAN

g =X '
& i
ﬁ Q——EHFH Ny



Http:/ www. tesoon. com

A ,
B. s
c ,
D ,
2. 5-1-1 s s P.Q
( ), P ,Q ,
0 PO o
A.Q P
B.(Q
c 5-1-1
D.
3. 5-1-2 s s
F, F
F, ,
;@ 16)) F ;@ y
o
A 06 B O® 5-1-2
o @® D @@
4. 100 m . 5 -
1-3(C ) , 5-1-3( ) ,
A.
B. ,
P C. 20 s
% D. 100 m P
i\ S m=2 kg s R
B t=0 ,
- s= -3 =51 tls
— (2)
) (st ),
- A. 6 N
— B.
C. >
D. t=2s , 17 m/s
L%

3

[

& it



6. 5-1-4, ,
A. B.
C D. ,
7. 5-1-5 s A, A
B,A.B 2 ke, : 10 N,
A, LA B
( g=10 m/s%)
A.5N B.15 N 4
C.25N D.35 N 5-1-5
8. 5-1-6 . F, F,
FF , , F, , F T T
. 5-1-6
v v v v
o t o 7 Y 0 >
A B C D
9 A B ,
[Z]
M,>M,, , 4
e 5-1-7
A. , A AB
B. , A AB
C. AB
D. JAB
10. , ’
5-1-8 , ala<g)
A.




& 4_&

R
& it

X

Http:/ www. tesoon. com
C.
D.
11. s s s AB
?OL b 9
B B
ERE B IRl 40
T\~ /an—] y Wrﬂ
L 1 X2 L A
A B C D
12. 5-1-9 A B m, my,
mA>mBy ’
Q P
s A
6
A A ,0
B A ,0
C A ,0
D. A ,0
13. , Fo,ot
v Fy, F,, l
’ Vs Uil
Av =v, B.2v, =v,
C.3v, =v, D.5v, =v,
— kM
14. 5-1-10 S M s
=
90°, a ;AB
i B
Fo m s s A.B
m b
B .
e
15. 5-1-11 ,AO .BO s
~
® AB , CO  0A.OB
— , LAOB =120°, 0D AB, oc
" ) C , 2.COD = 60°.
0 G s 0A
;. 0C
L



16. 5-1-12 ,

N T F ,
, N T N ,
17. 5-1-13 , AC
B=60°. AC.BC
100 N,CD
G
18. ,
1-14 ,
w=0.2
(1) ,
?
: | G
(2) , 5-1-14 g
9 ? s ?
19. , i
, , k
, 4<k<l2.
. k 10.
(1) ;
(2) )
, ?
20. m om, 1 2 F;M
, F , , 5-1 ”
_15 ’ , 1 2 5-1-15 %_
T. =
(1) ; ;g
(2) = oy
21. 10 m , ,
, 0.45 m , ;
( )-
, 7 (g 10w/, ) _
-
, 85 G&
T Zf)



D

[ #24 =1 ) ]
2.D P.Q

[ A =1 i ]

3.A

F
[ A= ]

4.C

9 C 9 9
9 B 9 b
’ Q P
Q Fy ,
; P.Q , p ,Q
, B.C , D
0] A Q
B; N C.
b F b
)
@ ,@
NE) @
9 )7
s A.B t
_Av _ C R
a—At—0.5m/s s—zat
C

% O— () (H=®mE)



SHI  TI YAN
s= /st +52= /13 600 m, D
[ A = A ]
(1)
- -(2)
. (3) —
( ) -
( )
5.CD s=vot+%az2 s= -3 -5 ,a =
—6m/s’ ;= -5 m/s, , 12 N,A
H , ,B
s s ,C 3 1=2s
17 m/s,D
[ fi A2 =1 ] ¢ )
6. A s s
[ fig A = ] : .
7.C , 10 N A,
) , AB
F, a=t 2105 508, B mg+N,, -
2m 4 =
F =ma, F =2mg, :N,y =mg +ma =25 N. g'_
[ iR e ] , X
9 ’ fﬁj
B
8. B : F, : :
’ F2 ’ p
v
, 85 G&
— 8 fy)



> >

9.D , , ,A.B
, AB , AB s ,
A.B , )
VA B v, yrrss , A.B
, AB , , JAB
, D .
[ AL = ] N ) ; )
10. A s F,, Fi+mg=F , Fi=F -mg-=
F 7
pVe —mg, % =71=J)—( km)g
, F,, F,+mg-F '=ma,
s F ’=P(g_a)V
Fy=ma+F '"—-mg=(pV-m)(g-a)
_Fy_(pV-m)(g-a)
LT T k
a<lg, Xy <Xy
a=g, s D.
[ iR = e ] . .
11.B , AB.C,
D ’
B. B
[ fe A = ] ; )
12. C Q P, , A

O— () (H=®mE)

& 4_&

&)

[

4

& it



[ #%48 =1 8 ]
13. A F,
t
Fy
52 = _bl ’
[ AL = i ]
14. A
,B
.2
mgsin~
Mg + mg.
[ #44 =1 A ]
15. @ ”
ACOD
T. oD
:0D

SHI
- , AB.D
, A
;@ ’
9
’ t ‘s!
R ’
, F, v =
” -5 U +(-v)
T T 2
v, =20,.
- v +0,
V=T R
’
gsin 3,
gsin® o gsin® . AB
mgsin® B.

mgsin® o + mgsin® B, N =Mg +2mg — (mgsin’ o + mgsin® B) =

A0 BO , ,
, T, £/ AOB =120°, ,
oD
, ( YAO .BO
5-1-16 , 0D
04
T = Gtan 30° :gc

Tl DIAD  YAN
C.
5 :@
F, )
s v +0
t 2
9 ;
S gsin «,




:N = G/sin 60° 2%50.

16- ’

Nsin =T
N =G/cos 0,T = Gtan 0

k)

N'cos §=G,N'sin 0 —T' =ma,

07
s Ncos 0 =G,

N'. T,

N'=G/cos 0,T' =Gtan 6 — ma

,N'=N,T"<T. N ,T
[ A2 =1 R ] ) ) ,
N=G/cos 6, , N ,
) T
’ ’ “y T »
b b N 9 b
N , ,T=Nsin 6, “
7 b 9 T 9
T T=0, a=gtan 0,
Py a=gtan 6, T=0, > >
Eﬁé F (M m) , F=(M+m)gtan 6.
i 17. 5-1-17 , C , 2
B
= ' ! P13y y6€g
~ F,cos 30° = Fjcos 60° @ C X
.
® F.=F,sin 30° + Fsin 60° @ Fe
i D
: e 3
i
~— @ :FBZ«/’JTFA, BC 5-1-17
J F,=10N . ¢ Gon
©
& 4&

W

IR X
& it



6 220083 s .

max 3
[ g = e CD G ,
. 10) 16) :
® ;@ .
18. (1) , ,
F =umg=4 N
m a, =pg =2 w/s’

ca, =(F-F)/M=0.5 m/s"

t, al=v+a,t

__v SRS SO T S
t_(al—az)_ls s—vt+2a2t zalt =0.75 m.
(2) , 8N , a, =0.8 m/s,
) ’ ’ :F,,Zmaﬁi
=1.6 N.
[ AgAL = ] ;
19. (1) Fy =kmg. ,
F', =kmg, , 30 m/s’ <a<110 m/s’.
(2) s F'y =kmg, , F'y
-mg=ma, a=(k-1)g=9g=90 m/s".
[ AR = ] -
20. (1) s a, a= F =
m; +m, =]
=3
2 , 1 2 T=mya=—-"> X
m]+m2 / fjj
(2) ) , a’, il
a' = F -
“m,o+m, M
m,
2 , 1 2 T'"=—-"—F.
m, +m, _
4
- ; N LS8
— 8 fy)



O— () (H=®mE)

Http:/ www. tesoon. com

[ f#22 =1 iR | ,

21.

vy = v2gh =3 n/s.
P
), s=ul+ 2gt s

[ A2 = ]

:tzl.7 S.

-10 m(




